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1. HAROEE ANREETT e |4 oy fagra For Aigen ?

(1) omedhs an 2) Ve ey

(3) 3feq fay 4) Sfes et

Who stated the theory of Absolute cost Advantage of International Trade ?
(1) Alfred Marshall (2) Robert Malthus

(3) Adam Smith (4) David Ricardo

2. I FEfo ASed SUER i H0ATH! $e1 STAE S e E, del T Sshridl wivE S@nt
TR ?
(1) == (2) omfo® (3) TETEHH (4) g

When you are not getting work even if you want to work at the prevailing wage rate, the
unemployment is called as

(1) Voluntary (2) Involuntary (3) Structural (4) Seasonal

3. ‘ST AEiiE U @ Heer Wit SIv SHLueATm diee ?
(1) S.qH, Ha (2) MR A
() WU F9 @) foeea e

The concept of ‘natural rate of unemployment’ was introduced by which of the following
economists ?

(1) J.S. Mil (2) Arther Okun
(3) JM. Keynes (4) Milton Friedman

4, 3UUMTER STIRE TEIE ScAET Sre Sl wiset 2idt ?

(1) oTehs AN 2) TH. fag

(3) . fRR (@) S &9

Who adopted consumption as a criterion for national income ?
(1) Alfred Marshall (2) A.C. Pigou

(3) Prof. Fisher (4) J.M. Keynes

THoT HIHTHIS W/ SPACE FOR ROUGH WORK
P'T.O.



L14 4 A

5. @eieieh! HoR fqur sieT R ?
(a) VEH @A AR WaaTre faior 2.
(b) T BT 9 AR WiaTE i g,
it 39 ;
(1)  (a) TR AR, 2)  (b) TR T,
(3) (a) 3TN (b) TN SRS 3R (4) SIS FIUCE T AT,

Which of the following sentence is correct ?

(a) Inflation is created due to increase in government expenditure.
(b) Inflation is created due to increase in private expenditure.
Answer Options :

(1) (a) is correct (2) (b)is correct

(3) Both (a) and (b) are correct (4) None of above are not correct

6. WEEREE Bilg® TRIGH GTIeIh! SIU LRI Higa ?

(1) T wieeA (2) 3m. R

(3) HL SHTW (4) W.UH. |

Monetary approach to inflation is put forward by which of the following economists ?
(1) Milton Friedman (2) I Fisher

(3) R. Dornbusch (4) IM. Keynes

7. AN wer d e SE wreliathl HIoRdn qEe e 3 2

(1) <iREEral ThE (2) T gEed

(3)  YFferT= wye (4) ST IR

Lorenz curve is a technique to examine which of the following issues related to economic
growth ?

{1) Population explosion (2) Level of employment

(3) Environmental Sustainability (4) Income distribution

HoAT HATEIE F0T/SPACE FOR ROUGH WORK
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8. TWciiciieh! HI faum Wi X S ISR e ?
(1) T GG OW STAEvaH TR HL A e,
(2)  STEt Y T S HH! IR TR I I Teial AR HU WR el S,
(3) 79 X I A T FIRHI F< AET ST ST THION 3T,
(4) TS FHoE fauE @ TR

Which of the following is an example of regressive tax structure ?

(1) A tax system that imposes taxes on essential goods.

(2) Larger percentage of tax on higher income group as compared to lower income group.
(3) A type of tax system that imposes same relative burden on all tax-payers.

(4) None of the given options are correct.

9. fowm FwiwiamET Geieds! Hd fG9H 9T ome ?
(1) TommE s T8 | ame faem fdwis (1D anftr fanve defua foem fdais
(GDI), 70 99 3.
(2) T faw fiws e femura defia fomrma frdwmsa Frey ¥aM oA
@) wHd Sie fdwiw (HPI) 71 9e foem fFRissm v o1,
(4) uHa faem i Tt FAaR sTaumr SwAS famvm aemar fogr Iaw o R
Which of the following is the correct statement regarding Development Index ?

(1) If gender inequality didn't exists the value of Human Development Index and Gender
related Development Index will be same.

(2) Parameters of HDI and GDI are same.
(3) Human Poverty Index (HPI) is a part of Human Development Index.
(4) Countries ranking high in HDI do not necessarily show gender equity.

10. ST FSH YOS 3iaia oS A0 T FoamRTET aiq Hewral ¥ Greiterieht
I ?
(1) AU e ST QSauIadEt e JgH ),
(2) ST R SATIRIAT =TT 2.
(3) =R TR T Wil € ugHd TR .
(4) UHIT VST WES YATR Ferl <o,
Which of the following was the main objective of establishing International Monetary Fund,
under Bretton Woods system ? .
(1) To provide credit to the countries to resolve Balance of Payment problems.
(2) To encourage free trade all over the globe.
(3) To end the import quotas system used as a method of trade control.
(4) To encourage smooth flow of foreign capital.

HoAT HIUTHIS! FANT/SPACE FOR ROUGH WORK PI.O
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11. Toweelid o womare € At SRt goHaE WA SieEard ?
(1) wvoft Sfa =erEE (2) THRER TG
(3) EHEARHE TEAE @) RS SR
Which of the type of following inflation is known as inflation in developing countries ?
(1) Demand pull inflation (2) Cyclical inflation
(3) Structural inflation (4) Cost push inflation

12. @i faum AFE fawm fdaia - 2010 o Hafia omed
(@) wrEt fasra v geu S Y § U 91 g 0el ot ([ WA 6eA).
(b) I STHEL M FoIe ¥ < afn Feit STysam=) Hieemy el
(©) mmwﬁaﬁwamﬁmﬁﬁmmuﬁwﬁﬁ@m
(d) o feor W @Y @ aee famm Féwiewren e’ aftEors G woaet

AT .
et BT frEm T e ?
(1) wd& =R faum () faum (a) afin (q)
(3) faum (b) s (c) (4) UM (a), (b) o0 ()

Following are the statements related to Human Development Index - 2010.
(a) The value of HDI lies between 0 and 1 (both values inclusive).
(b}  Birth and death rates of a country are a measure of long and healthy life.

(c) Inequality of income and wealth is one of the three dimensions considered for the
calculation of HDI.

(d) Mean years of schooling is used to measure ‘education” dimension of HDL
Which of the above statements are true ?

(1) All four statements (2) Statements (a) and (d)

(3) Statements (b) and (c) (4) Statements (a), (b) and (c)

THeeAT SHTHMETS AT/ SPACE FOR ROUGH WORK

P R Y oAl e o O
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13. Geieihl H U stat o ) ?
(a) ‘neR gER' Frem wa, Aufis dune a i fawm TERHET STETie STH.
(b) oo wEa’ e T, et U o R T ST T
Tl
(1) (a) H M. @ (o) T MR,
(@) (a) M (b) I TR ARA. (4) Sl FRGE T R
Which of the following statements is correct ?

(a) According to Arthur Lewis, natural resources and economic development depend on
each other.

(b) According to Arthur Lewis, natural resources and economic development do not depend
on each other.

Answer Options :
(1) (a) is correct (2) (b) is correct
(3) Both (a) and (b) are correct (4) None of above are not correct

14. ' Aoerd=a] Yoz THAq wel 7 Bl for=a Wt et aieh & reren e wevr enifdes gfg 2,
I 0T T2 ?
(1) T faef (2) < firem
(3) MR afem (4) I R

“The expansion of one or more sector of the economy without any change in the basic structure
of the economy is economic growth”. Who said this ?

(1) Gunnar Myrdal (2) John Friedman
(3) Arthur Lewis (4) Joseph Schumpeter

15, ETEleideh! ST SIS NHawdiel Sies W= 1t defd A ?

(1) =iea sufn T vy (2) ToTe™ svaE T

(3) WICHRT SRS AW T (4) RUR Qi

Which of the following study groups is not related with the study of poverty line in India ?
(1) Dandekar and Rath Committee (2) Minhas study group

(3) Monteksingh Ahluwalia Committee  (4) Tarapore Committee

ol RIS W/ SPACE FOR ROUGH WORK P.T.0
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16. @il fagm, Somde S TEw Seitel sEE wm g dd 39y mar e @ wE Bdd
JrTE Sty aTed ?
(a) el IR A HH B
(b) =T ORTE A e
(c) =AW dehi=t gz St Frafor ot e s
(d) SR SR g 34 i st v s S
eI RivRT faam il o ?
(1) e faum (a) W AR () wEa faum (b) WY TR
(3) faum (a) anfin (d) &l e, (4) faum (b) =uf (c) = =1Ra.

Following are the statements regarding what will happen if public prefers to hold a high
proportion of money in terms of cash ?

(a) The value of money multiplier will be low

(b) The value of money multiplier will be high

(c) The ability of commercial banks to create secondary deposits will be high
(d) The ability of commercial bank to create secondary deposits will be low
Which of the above statements are true ?

(1) Only statement (a) is true (2) Only statement (b) is true

(3) Statements (a) and (d) are true  (4) Statements (b) and (c) are true

17. SRIgiS ddeasdy aEsie faarE e it S Fame] TEmeEyds 3G 7
(1) HHENd I 909 aey
(2) IR = faam
(3)  FiferaTen W yeufa
(4) =0« gag

For which of the following activities does the role of public finance in the market economy is
imperative ?

(1) Proper allocation of commodities in the society
(2) Justified distribution of income

(3) Establish stability in economy

(4) All the above

. oAl HHES AT/ SPACE FOR ROUGH WORK
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18. &9 SR YueAian fase efiaden! Hivwen T Bt 7

(1) TYAifasR =R =W (2) Y IR FR

(3) omfelw wu (4) I |d

Regional trade associations develop through which of the following stages ?
(1) Preferential Trade Agreement  (2) Free Trade Agreement

(3) Economic Union (4) All the above

19, RIS WG] TNHIOTTHR WA HIvAT @ Hegel @4 3 7
(1) TR Erear=l ST e @S
(2) U GERl gEfyg vieael SeRriaid @9
(3) = T vl T
(4) T YT w

As per the classification of public expenditure, which of the following is revenue
expenditure ?

(1) Administrative expenses on the defence establishments
(2) Expenses of capital transactions related with defence department
(3) Expenditure on payment of interest rate

(4) Expenditure on foreign investment

20. e ai=n femen 9o dEmH fASiaER V € SR $HI0En Serses v ?
(1) V-9 SERAA
(2) V-1 e
(3) V-GS ymuR
4) V- o AHEREH

According to Fisher's Quantity theory of money, V Alphabet shows which of the following
variable ?

(1) V- volume of money
{2) 'V -value of money
(3) 'V -velocity of circulation of money

{4) V- volume of currency

THoeAT HIWMES 9T/ SPACE FOR ROUGH WORK PT.O
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21, TERHTATER o QA Seme i @ UL SURH I0fa i 8 aeieis! T
e fage ol ¢
(1) TFY a9 9 §ai9 .
(2) TSI SR HHUER ST FHIGI,
(3) WeE AT Twa Sefen Feiedr a% 9 Hal.
(4) =F [FAGTER a9 9 Q=1 IO 4]
Difference between GDP and GNP at market price is due to one of the following factors :
(1) Production of total goods and services.
(2) Existence of net factor income from abroad.
(3) Goods and Services produced by foreign nationals in domestic territory.
)

(4) Addition of income from goods and services at factor cost.

22, HEWIHF HAdle de-Hhd UL IR JISAIer IR Gatl el wure S8 foheAs
T e 9y Fag +1.

(a) SRS Helte = Sl 7 9] 7egakT a9a el sl
(b) HESITH HAT FAH- AN AT e a9 GEsfIeh Folidl WAhe Holl .
(c) wENf Foge: foda Tyt Feaar Fafo gk, afomdt @t SamEt i syesm

HH B W
i Y
(1) = (a) (2) T (b) (3) & () (4) i@
Growth in public debt - GDP ratio is criticised due to following reasons. Find out which is
correct ?

(a) Public debt carries burden of interest which is to be paid out of the current Revenue.

(b) Public debt often does not yield direct or indirect returns and thus its redemption
becomes difficult.

(c) Public debt pre-empts financial resources and may reduce availability of funds to the
private sectors.

Answer Options :
(1) Only (a) (2) Only (b) (3) Only (c) (4) Allabove

HoAT HUMEES M/ SPACE FOR ROUGH WORK
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23. & warHar W Wefadest FImE! TET R 2
(1) Toaren sgwEmE R
(2) ot e suftr sSis =
(@) o v foaiae sga R fdar T
(4) o e snfor T SiaAm afsa W S s e Tt

Gender empowerment measure calculates, which of the following ?

(1) Life expectancy rate among women

(2) Literacy and unemployment rate among women

(3) Whether the sex ratio is in favour of women or not

(4) Whether women are able to actively participate in economic and political life

24. THEEE SHOv fagia Seiaish] S0 SIEmal WEhIe 2! ?

(a) SHW (b) FH R

(c) THEhEE FIIT (d) oF g

Ty qaig fraer

1) (@) 3T (b) (2)  (b) 3 (c)

() (a), (b) A () (4)  (b), () = (d)
Demographic Transition Theory throws light on which of the following factors ?
(a) Birth rate (b) Death rate

(c) Population growth rate (d) Infant mortality rate
Choose correct option :

(1) (a)and (b) 2 (b and (©)

(3) () (b) and (0 (4) (), © and (d)

25. BRER T Wieldeh! Faid Hexare S S0 ?
(1) e ST SEA e A e
(2) VHEUNE AU
(3) Sfde qYHHE T8
(@) el |d Ty
Which of the following is a major source of greenhouse gases ?
(1) Burning of fossil fuels by industry and automobiles
(2) Rising sea levels

(3) Global warming
(4) All of the above

WAl HMATATS! N/ SPACE FOR ROUGH WORK PT.0
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26. UL IAEATH TR feae IR Jgaiaedid Sieierdeh! v faum @Y o ?

(1)
(2)
(3)

(4)

TG SUEA € e HeHiAl hoiedl AT s 3T,
T SR 7 <UE €907 @it aaRyeTgan hefet ss ST,

UL IJqEA & WIS, 909, =M M0 TR Il SEIqH Hisdel FUR a9 hedal fHesund
@6 3,

TG IR & QUM T &oe I Seenardiel fRrdiTar /st S

In the net product method of national income calculation, which of the following is true ?

(1)
(2)
3)
(4)

National income is a sum of all factor payments.
National income is a sum of all money expenditures at market price.
National income is the surm of rent, wages, interest and profits minus depreciation.

National income is calculated on the basis of output from all sectors and their market
price.

27. YRAEN SRIEE F L0 ARG At 9 SWfas 99 WgFau T9R Holel 1991 HHA

anfefer GuRON HEHT WIeiAH! v ?

(1) e TurEieT fawas sy

(2) ST favas Hrismd

(3) Feerator enfor TSR HWIESH SEwE
(4) omfelen Serfeto SR

Which of the following programnes for economic reforms was prepared by IMF and world
bank to provide conditional Ioan to India in 1991 ?

1)
(2)
(3)
(4)

Economic Adjustment programme
Globalization related programme
Stabilization and structural adjustment programme

Economic liberalization programme

HeAl HATER ART/SPACE FOR ROUGH WORK
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28, QISR &g 301 iR o] ArdQHId HIU faae THds AR ?
(a) TN TR YT ITEAN, e g% WsT Tad. 503793
(b) TeF T&E A I % THUR TEG =T A S F W ST dOR L
(c) UESFEF T AUE TR S T weewtar aiom fag A,
(dy fag srfemaed vl 9] W STEan.
g wata fraer
(1) (a) 30T (b) (2) (o) =t (d) (3)  (b) 3 () (4) (a) 3 (c)
Which of the following statements are true regarding private goods and public goods ?
(@) Private goods-are divisible, public goods are not divisible.
(b) Those who can’t pay price for private goods, can’t use those goods or services.
(¢) There is effect of other socio-economic factors on the use of private goods.

(d) Private goods are cheap in mixed economy.
Choose the correct option :

(1) (a)and (b) (2) (o) and (d) (3) (b)and () (4) (a) and (¢)
29. U SEHATHI AIVHTAE HIoed S q&d SISl 3184 ?

(1) gYSmawA (2) UheqTTTHF 9 WS
(3) wEfa® 9 HIW (4) T FIRE TR
Which are the two major difficulties in measurement of national income ?
(1) Micro and Macro (2) Conceptual and Statistical
(3) Elastic and Hard ~(4) None of above
30. favrit s e X HT0gME ¥ U 3.

gt 3T

(1) =le wd (2) HIS (a), (b) MW ()

(3) F@ (b), (c) ¥ (d) (4) +F2 (), (b) 1 (d)

To eliminate regional imbalances are the solutions.

(a) Resource Transfer

(b) Special Area Development Programme

(c) New Investment in Private Sector

(d) Encouragement for investment in backward areas

Answer Options :

(1) All of the above (2) (a), (b) and (c) only
(3) (b, (c) and (d) only (4) (a), () and (d) only

o HIWE AAN/SPACE FOR ROUGH WORK PT.O
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31. Gl HIURE FHEN ARATdI Wi Hf ehrl YaqeasT Seie aed ?

(a) ST HigaA
(b) st nfor SaaTe foent = go-aar A9

(c) wgfem fom™

(d) oFaTREl G

Tate I

(1) 9 (a), (0) 3 (c) (2) F9@ (b), (c) I ()
(3) w9 (a), (b) FfU (d) @ b e

Which of the following are problems of Primary Agricultural Credit Co-operative Societies
in India ?

{a) Inadequate Capital

(b) Lack of co-ordination between loans and agricultural goods sale
(c) Balanced Development

{d) Problems of overdues

Answer Options :

(1) Only (a), (b) and (c) (2) Only (b), (c) and (d)

{3) Only (a), (b) and (d) (4) All of the above

32. B USTeRIE SYR[E AT Gaed drsEl S Svare ey S e ?
(a) Wi Tt 30 A=A AT Ui Fe HEW IFATED ML,
(b) Hi® F ¥ 3,00,000 (i AM@) v foban wmdan = sToa wifes.
(¢) TR 7 YA Sl 9 STHfEe S STEen e,
(d) IR B ST RS HEe dest,

wat=t 36T -
(1) e (a) MU (b) (2) TR (a) U ()
3} (a). () 3T (d) (4) T (c) WU (d)

Which are the criterias to take benefit of Dr. Panjabrao Deshmukh interest subsidy Yojana ?
(@) The crop loan must be paid by the 30! June per year.

(b) The amount of crop loan must be ¥ 3,00,000 (Three lakh) or below.

{c) The farmer should belong to 5.C., 5.T. category.

(d) The farmer should be small landholder.

Answer Options :

(1)  Only (a) and (b) (2)  Only (a) and ()

(3) (a) (c) and (d} (4)  Only () and (d)

oAl HHEEE ST/ SPACE FOR ROUGH WORK
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33. <fgy fdem Fivammet TrRa SRA At s wﬁamﬁmﬁ%m@%
T TATGT et ?

(1) 16 W, 2017 (2) 16 W, 2016
(3) 26 W, 2015 (4) 16 ¥, 2015

When did the Govt. of India set up a “Task Force : Elimination of Poverty in India” under the
NITI Aayog for eliminating poverty ?

(1) 16 March, 2017 (2) 16 March, 2016
(3) 26 March, 2015 (4) 16 March, 2015

34, U FE F WH fFEwE S anion yrEmE gigun faw fis we o st et ?
(a) Tihds TARSIHIS! VATl e FTTq0
(b) o fde weheq qof FIoaESt st X0
(c) TIBM YaHars! Sl FrEev
(d) <EH Y ga giauret A o

gt ?.Tﬁ‘ :
(1) e (a) 3TITOT (d) (2) WK (b)
(3) P () 4) (a), (c) 3nM0 (d)

National Bank for Agriculture and Rural Development set up the Rural Infrastructure
Development Fund for which objectives ?

(a) Making farmers capable to repay the crop-loan

(b) Granting loan to complete minor irrigation projects
(¢) Increasing the productivity of the small farmers

(d) Creating loan facilities for the small farmers

Answer Options ;

(1) Only () and (d) (2) Only (b)

(3) Only () 4) (@) (c) and (d)

HoAT FHWMES AT/ SPACE FOR ROUGH WORK PT.O
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35. Soigaa fER fiare 3feen 19 ang ?
(@) 2019 94a HERE 9IUR I9E Ho TT FHLL,
(b) HIS TN WD,
(c) =T ST AT,
(d) e foue vga aTRvaEES! Wit .
At 3
(1) (b) 3 (c) & =2t Farum s= TR
(2) (d) T faum sier ame.
(3) (a) MU (b) ¥ faum SR TR
(4) (a) % foum st AR,
What is the aim of Jalyukt Shivar Abhiyan ?
(a) To make Maharashtra water drought free state by 2019.
{b) Magel Tyala Shettale (Farm ponds on demand).
(¢) Murdu and Jalsandharan.
(d) To stimulate to use drip method for irrigation.
Answer Options :
(1) (b) and (c) both statements are correct.
(2) (d) statement is correct.

(3) (a) and (b) both statements are correct.
(4) (a) statement is correct.

36. IV HZeh {RPEayi uRuEes Mivea Fad ?

(a) o=l gdtwar (b) <TTEE Tgd

(c) e = (d) STRISTE STeTsHl
gt 3T

(1) %K (d) (2)  (a) ST (b)

(3) (b) S (c) @) (a), (b) 3 (o)
Which factors determine the size of economic holding ?

(a) The Fertility of soil (b) Method of cultivation
(¢) Nature of the crops (d) Availability of market
Answer Options :

(1) Only (d) (2) (a)and (b)

(3) (b and (0 @ (@, () and (0

oA HIATHTS W/ SPACE FOR ROUGH WORK
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37. T gfen g9/w 2015 9 3= )
(a) TE gRATE IcweA HEwH H
(b) IR HIS THIG IR HI FOAHE! Wearerd Ho
(c) ST SN T F0

(d) =09

i 3T ;

(1) (a) 3 foamM U 3T (2) (a) 3 (c) 3 faum S aMee.
(3) W (b) faUM SR 3. 4) Had (d) Taum s AR,

Objective of the New Urea Policy-2015 is

(a) Maximise indigenous urea production

(b) Stimulating to use urea in maximum proportion in agriculture

(¢) Rationalise subsidy burden

(d) Aboveall

Answer Options :

(1) (a) statement is correct (2) (a) and (c) both statements are correct
(3) Only (b) statement is correct (4) Only (d) statement is correct

38. @t faum faurm =0 .
(a) TERIE T U9 61 U faumma e o7

(b) RIS SIFeEIE 400 el 3.

(c) 400 el TR St 40000 fRH R,

Sttt FoR faum/ S e/ e ?

(1) e (a) M (b) TS 3. (2) e (a) A (c) S A,
(3) T (b) MM () S . (4) wleret wd.

Consider following statements :

(a) The Maharashtra State is divided into five river basins.

(b) There are around 400 rivers in Maharashtra.

(c) The total length of 400 rivers is 40000 kms.

Which of the statement/s above is/are correct ?

(I) Only (a) and (b) are correct (2) Only (a) and (c) are correct
(3) Only (b) and (c) are correct (4) All of the above

HeAT HIFEIS 9T/ SPACE FOR ROUGH WORK PT.O
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39. A 2020 =N SR ForAT TN Thelld SV el Taifue [aavs Feft o ?

(1) wHeTg, (2) ufem ST 3) e (4) wEwg
As on end of July 2020 which state has invested the most in consolidated sinking fund ?
(1) Tamil Nadu (2) West Bengal (3) Gujarat (4) Maharashtra

40. Yo T oy SfsEaTE 329

(a) YW = de ol SISt Aed
(b)) TEA fHE e g w0
(c) TERIEGTH {IRT Hed FT0)

(d) ! A

Wfﬂ"r?ﬁﬂ‘:

(1) %K (a) (2) W (a) 3WN (b)
@) wH(E) (4) ®H(d)

Objective of the Accelerated Irrigation Benefit Programme (AIBP) :
(a) To assist for completion of incomplete irrigation scheme

(b) To start new irrigation project

{(c) To assist drought prone area

(d) None of these

Answer Options :

(1) Only (a) (2) Both (a) and (b)
(3) Only (o) (4) Only (d)

41. YRAWIA TR WH Fehil TIgREsT T =T FREY 2
(a) T TEHR Fl.

(b) foiee qeged ggard Ha.

©) WufhE gt Hiv aafor arditor fawrg .

(d) wafhes FN FERM TR Tl

TaiEt 9

1) @ ®AME @ O MG 3 @ 0 @ e ad
The short-term rural co-operative credit structure in India consist of .

(a) State Co-operative Banks.

(b) District Central Co-operative Banks.

(c) Primary Co-operative Agricultural and Rural Developments Banks.

(d) Primary Agricultural Credit Co-operative Societies.

Answer Options :
() @ B)and() () O, (and(d) (3) () B)and(d (4) Allof the above

HeAT HIUMTS W/ SPACE FOR ROUGH WORK
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42, ORd A $E [EHT Uiegl fawm d9m Syt gE el ?
(1) 2014-15 (2) 2009-10 (3) 2008-09 (4) 2018-19
When did the Government of India launch the centfa]ly sponsored Poultry Development
Schemes ?
(1) 2014-15 (2) 2009-10 (3) 2008-09 (4) 2018-19
43, VRARKIS SYSIRI= eutd @it faur faemm =i
(a) T SUSTIR HHIRET WrHiq Seaeehdl I 180,
(b) Ve SRS el e,
(c) UM, SUSTTRI IR STSIRTtet Srqufar=n aftoms o7,
Tiierieh! Hio/ @ faum/3 o/ g/ TR ?
(1) 9 (a) 3 . (2) FD (b) AT .
() (a) 3 (b) 3TERT . (@) (a) 30 (c) STEFT HARA.
Consider the following statements in the context of unemployment in India.
(a) The marginal productivity of disguised unemployment worker is zero.
() The urban unemployment is not open.
(c) Frictional unemployment is a result of imperfections in the labour market.
Which of the statement/s given above is/are not correct ?
(1) Only (a) is incorrect (2) Only (b) is incorrect
(3) (a) and (b) are incorrect (4) {(a) and (c) are incorrect
44, , . 1 fireri=a fmdidier iR T wivaerdt wiEra ' SigwEm
' & Het . ,
(1) hicT, g, o (2) digs, sard, g
(3) W, HIYH, darg (4) WA, Fi, ST
The government has introduced “Operation Green” to address price volatility in
Crops.
(1) Onion, Garlic, Chillie (2) Rice, Jawar, Wheat

(3) Sugarcane, Cotton, Tobbaco {4) Tomato, Onion, Potato

oA HIWES AN /SPACE FOR ROUGH WORK
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45. YA Yaure fasheaasd GURUN S€g SVUEErEt Giefteideh! ShIvEhuK ST et ST 2

(@) T semush T (b) HABII NN WA

(c) IS TUE (d) SfrTEhR= Hfaw

qaiEt sy

(1) (), () 3 () (2) () (c) =T (d)

(3)  (b), (c) AT (d) (4) whatw

Ergll;:}; of the following remedies are useful in to improve Agricultural Sales System in
{a) Establishment of Regulated Markets (b) Conducting Weekly Market
(c) Establishment of Warehouses (d) Facilities of AGMARK
Answer Options :

(1) (a), (b) and (c) (2) (). (c) and (d)

(3) (b), (c) and (d) (4) All of the above

46. T THAT YRV SISk HIde @4 giafel oSt sTeheari=a snuR giiea aromet fafrea
T FERATaE SIorer tedae ST el ?
(1) T8 HEZ<a (2) S YSARF
(3) THE. dgae (4) . @I

According to National Sample survey criteria, which economist have objected to the criteria
set for poverty measurement, based on data of calories per day per capita monthly
expenditure ?

(1) S. Mahendra Dev (2) Utsa Patnaik
(3) S.D. Tendulkar (4) C. Ravi
47. 1995 WA ARUEE Gehrd Hoe % e THF 9@ R/ e @
(1) T it @ (2) TEFRIGId HEFR
(3) sTieaeE] HAifed =S (4) Q¥ Y FEu
International Co-operative Alliance of 1995 has not adopted as the new principle

of co-operation.
(1) Autonomy and Independence  (2) Co-operation among Co-operatives

(3) Limited Interest on Capital (4) Members Economic Participation

HeAT HWYS AT/ SPACE FOR ROUGH WORK
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48. Gﬂ@lﬁﬁ:
()
(a) T USTIAE UTHIOT Yaehi-T Hivrem (i)
(b) STEHRE famr wreisHT | (ii)
(c) i Y Sfor SraaeR fawm (iii)
(d) THEF o fowm HriE (iv)
Qi I

L14

(ad)

2 3ffaRieR 1980
1970-71

1971

15 3L 1979

1) @@, ®)-0), (©-), (-G 2 @0, B)-v), (-, (d)-i)
(3)  (@-v), b)), (-G), (A1) (@) (a)(i), (b)-(i), (©)-iv), ([d)-{)

Match the following :
{Scheme)
(a) Training of Rural Youth for Self Employment
(b Smali Farmers Development Programme
(c) Marginal Farmers and Labours Development Programme
(d) Integrated Rural Development Programme
Answer Options :

(Year)
(i) 2 October 1980
i) 1970-71
(iii) 1971
(iv) 15 August 1979

(1) @-G), GFG), €-), @-G)  2)  @)-6), b)), (©)-(H), (d)-()
() (@-v), (b)-(id), ()-Gi), (d)-0)  (4) (@G, B)-(), (©)-(v), ([@d)-{)

49, 94W #3 F fHErh 9em g Foan st .
(1) 2 3fER 2019 (2) 10 3 2015

(3) 14 A 2019 (4) 132015
Pradhan Mantri Krishi Sinchayee Yojana was launched on
(1) 2 October 2019 (2) 10 June 2015
(3) 14 March 2019 (4) 1 July 2015
50. FEHER SR Sy STHEI FEUAT.
(1) & () 3Jwfw (3) W& (4) =f¥®
The audit done by law is called audit.
(1) Continuous (2) Statutory (3) Government (4) Annual

HeAT HIFEGS! RN/ SPACE FOR ROUGH WORK
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51. U GEFr) GEI-famt 9= (NAFED) 9= e o :
(a) VAT G
(b) IS faam
(c) WdmreT= fafa | smad
(d) afeds T A

it 36T :

(1) () 3 (c) (2)  (a) 3T (b) (3) W (d) @ (@), (b) 3 (c)
The main aims of the NAFED (The National Agricultural Co-operative Marketing of India
Ltd.) are .

(a) Procurement of agricultural commodities

(b) Distributiorn of agricultural commodities

(c) Export and Import of agricultural commodities
(d) None of the above

Answer Options :

(1) (b) and (¢) (2) (a)and (b) (3) Only (d) 4 (2 (b)and (9

52. w@red faum faunm =n
(2 WNEAT.-1, A2 T = YR Sl R
(b) ORI TCWUN, STetHI, ST i Yos Toieamma 1 fierfadm.

i 39T
(1) ¥ (a) T 3. (2) ¥ (b) I 3.
()  (a) TMOT (b) A= A=A (4) (a) 30T (b) T >TRA.

Consider the following statements :
{a) B.D.N.-1, B.D.N. - 2 are the advanced varieties of green-gram.

(b) In Maharashtra green-gram produced in districts of Parbhani, Jalana, Jalgaon and

Dhule.
Answer Options :
(1) Only (a) is correct (2) Only (b) is correct
(3) (a) and (b) are correct (4) (a) and (b) are incorrect

weHl HITEIST 1/ SPACE FOR ROUGH WORK
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53. WENTZRIE WR¥ STHAaer=l Faie S1re FIoAraId! T 1983 LA HivredT stefaesi=n Arieyrarci
TF Heaehes Wit wnfud heft S ?

(1) TTd i (2) faoa Fawx
@) faum IR+ (4) IR THF

Under the guidance of which economists, a Truth-Finding Committee was set up in 1983 to
study the regional imbalance in Maharashtra ?

(1) A.S. Sharma (2) Vijay Ketkar

(3) V.M. Dandekar (4) R. Radhakrishna
54. FRUAfROENFEM AT e qHEY

(a) TAYEEST nfor faa (b) =YY t-faamd

(c) i 9 gume (d) ¥R

qafdt I

(1) (a), (b) 3T (c) @ (@), () = (@)

(3)  (b), (c) 3T (d) (4) wote wd

Agricultural Renewal Action Plan consist of .

(a) Credit and Insurance (b) High Yielding Varieties Seeds

(c) Soil Health Enhancement (d) Market

Answer Options :

(1) (@), (b) and (¢) 2 (@), () and (d)

(3) (b), (c) and (d) (4) All of the above

55. WENIY ToAr faehramdie Wefirh sTaware St Fvaad! | gafaeiean SumEiies! Sver SuM
faima a1 ?
(1) #FTH fSieRtan sier fahm
2) uife fawe FeeE wren w0
(3) wwrt sieifes d=rar fawm w0
@) adw ud
Which of the following measures is inconsistent in reducing the regional imbalances in the
development of the state of Maharashtra ?
(1) Rapid development of backward districts
(2) Establishment of legal development board
(3) Development of private industrial sector
(4) All of the above

AT TS 9T/ SPACE FOR ROUGH WORK PT.O
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56. F=qU gre Hevle e faum faam =
(@) EF 2000-2001 HLA WRA AHRA Y00 AT STER e,
(b) I FeHstaTa T 2 wia forel <t g amfor T 3 wh fered ST dige Tefamn W,
serent v/ faum/ S e ?
(1) H9B (a) T TR, (2) Fd (b) T TR,
(3)  (a) 3V (b) ST LA, (4) (a) ST (b) T A
Consider the following statements in the context of Annpurna Scheme :
(a) Government of India has announced Annpurna Scheme in the year 2000-2001.
(b) Under this scheme wheat of ¥ 2 per kg and rice of ¥ 3 per kg is supplied.
Which of the statement/s given above is/are correct ?
(1) Only (a) is correct (2) Only (b) is correct
(3) (a) and (b) are correct (4) (a) and (b) are incorrect

57. U WMEEd S0 THAAET (NMSA) FI0E! A8l W F0ARAST S et ?
(a) & vRar SRaseidt Ao,
(b) It & WS TR AT Arefan.
(c) 3 GUREd, SEeAR W, Safafaua ST ST aEHh 96 gSqd ST,
(d) TR, Tiges 3N et A= SR AE TS 0TI,

it 39T :

(1) " (a) 7MW (d) (2) ()

(3) W (o) @) (a), (b) e (d)

Which targets were given to National Mission for Sustainable Agriculture (NMSA) to
achieve ?

{a) Bringing Green Revolution of Eastern India.

(p) Enhancing Public investment in agriculture.

(c) Enhancing food security, protection of resources, biodiversity and genetic resources.
(d) Bringing about additional production of wheat, rice and pulses.

Answer Options :

(1) Only (a) and (d) (2) Only (b)

(3) Only (0 (4) (@) () and (d)

THEAT HIVEIS AT/ SPACE FOR ROUGH WORK
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58. Sditen quif SR Fe IUA AT 2
(1) ¥ 1992 (2) WFERN 1992 (3) AT 1994  (4) A 1994
When statutory powers were given to SEBI ?
(1) March 1992 (2) January 1992 (3) October 1994 (4) March 1994

59. WA figed S = Aean godie HROTE A S 2022 AR AR R
el
(1) Tfu= 2019 (2) e 2019 (3) aRET 2019 (4) ¥E 2019
The Reserve Bank of India launched its medium term strategy framework, namely ‘Utkarsh
2022 in :
(1) April 2019 (2)  July 2019 (3) October 2019  (4) March 2019
60. WRT ThHIA et e faewm fadia Sut=t SIeE S
(1) SR, 1995 (2) STEr, 1997
(3) SmER, 1999 (4) SHER, 2001
The Government of India set-up the Infrastructure Development Finance Company in year
(1) January, 1995 (2) January, 1997
(3) January, 1999 (4) January, 2001
61. T YT HRHSEET T = T FTEAL.

(1) T 9HR for Gl &=

(2) TF &R A HF TWER

(B) TR 9%, T T Nt TR’ o

(4) TR

State Financial Co-operation was set-up with co-operation of
(1) State Government and Private Sector

(2) State Government and Central Government

{3) RBI, State Government and other banks
(4) None of these

FoAT HHES 9T/ SPACE FOR ROUGH WORK PT.O



L14 26 A

62. eirel faum feremm =
(a) VRO FY=AT TIH I AT WIeQTe- SUITEET Wea Al
(b) TR N1 FTEAH A TR WA FEAEH HIA GHSIAT ST
FedH FoRA A g9 oTRa ?
(1) W (2) T SR (2) W (b) 4T T
(3) (a) 3O (b) A T @) (2) 3 (b) T =T
Consider the following statements :
(a) Multinational Corporations help in promoting imports of the host country.
(b) Multinational Corporations are regarded as agent of modernisation and rapid growth.
Which of the statement/s given above is/are correct ?
(1) only (a) is correct (2) only (b) is correct
(3) (a) and (b) are correct (4) (a) and (b) are incorrect

63. 1973 =1 facei fafma =raearm e S T it Wielisa F0aE e ?

(1) == 1978 (2) T 1998 (3) w2015 (4) A 2016

When the Foreign Exchange Management Act (FEMA) 1973 was consolidated and
simplified ?

(1) March 1978 (2)  July 1998 (3) March 2015 (4) July 2016

64. HESIh WU VAR Sadia gera faum fa=mm =
(a) 12 =M YEETHE A= 3" TR HE o e SR TR, WRAWE 1017 WSS @

IR Wehed ST

(b) HIESF G e Teheqi=al §@A= dMedld WRd 2020 A Sl GEAl hHishE]
.

st v/ faumA O e ?

(1) % (a) TAHK 3R (2) F9 (b) T T

(3) (a) 3N (b) TR e 4) (a) 3Nf¥ (b) TH e

Consider following statements in the context of Public Private Partnership (PPP) :

(a) Approach paper of 12th Five Year Plan states that India has 1017 Public Private
Partnership Project.

(b) India in 2020 is second only to China in terms of number of Public Private Partnership

Projects.
Which of the statement/s given above is/are correct ?
(1) only (a) is correct (2) only (b) is correct
(3) (a) and (b} are correct (4) (a) and (b) are incorrect

o] THIWTETS! AR/ SPACE FOR ROUGH WORK
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65. SRATA ST Yaaie dsioan Yfeedr a8id (2007-08) 3ireifier faepmarn gt ¢ ot S ?
(1) 65TFh (2) 757 (3) B80T (4) 85 TFH
How much was the growth rate of industrial sector in first year of eleventh plan (2007-08) of
India ? .
(1) 6.5 percent (2) 7.5 percent (3) 8.0 percent (4) 8.5 percent
66. TTHTH WRferIHt Hor farr-fomma @ a2

(2) FRamEd G (b) = A

() IRmERE T @) = HHaTEtE €
Tt g

(1) (), (b) 3T (c) @  (a), () 3f (d)
(3) (@), (b) 3 () @ wats ¥

Which of the following are non-developmental expenditure of government ?
(a) Expenditure on defence (b) Interest payments

(¢) Expenditure on health (d) Expenditure on tax collection
Answer Options :

1)  (a), (b) and () (2) (@), () and (d)

(3) (a), (b) and (d) (4) All of the above

FoAT HEES T/ SPACE FOR ROUGH WORK
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67. el e e :

?‘W TR o
(a) Vf# (i TSEE
(b) @i (i) @
() TR WA (iii) HATEH
(d) fTEE IWga (iv) weursg
Tgidt I

@@ (b) (o (d)
1) @ vy (W) (i)
(2) O () (D) ()
() (v) (@) @@ @
(4) (@) (v) @ @
Match the following :

e-Governance Project States
(a) Bhoomi (i) Rajasthan
(b) Sarita (ii) Kerala
(c) Smart Ration (i) Karnataka

(d) Operation Gramdoot (iv) Maharashtra
Answer Options :
@ (b) () (d)
O 6 @ @ @
(2) @) @) (@) (v)
@) (v () @ @
() @@ () @ @

68. H% € RS __ R,
(@) Tied =, A SR THoeM T
(b) AN Shiar MEHIAT STHUR ST T
() TEHRI dhie TEHIAT STHOIRT TS X
(d) SR faeom = g2

gt 39T ;
(1) (a) foum 97 am2 (2) (b) 3T () faem 9rg oma
(3)  (b), (c) Ffr (d) faem a7 oRa (@) (4 faum drg R

The Bank Rate is the .

(a) Rediscounting rate of RBI to Banks

(b) Interest rate of commercial banks to customers
{c) Interest rate of co-operative banks to customers
(d) Interest rate received by the depositors

Answer Options :

(1) (a) statement is correct (2) (b) and (c) statements are correct

(3) (b), (c) and (d) statements are correct (4) (d) statement is correct

HeAT HIEEET 91/ SPACE FOR ROUGH WORK
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69. VA SAEETTFHa 91 & ¢

() TV (VS AEE) (b) T R
(c) e aufn farre (d) = amfn Ay
At I
(1) (a) S (c) ) (c) et (d) (3) wH(d) 4) (2 3 (b)
Non-commercial Energy Resources in India :
(a) Fuel wood (b) Animal dung
{c) Coal and lignite (d) Oil and gas
Answer Options :
(1) f(a) and (9) (2) (c)and (d) (3) only (d) 4) (a) and (b)
70. Sfdeh Sehedl T, 2018 WeA U A=A a1 T A0iTAEY WRA 7= 30 JWHEA
Tt .
(a) o fresfan (b) O e
(c) reEEl gt (d) STqEEAF JaAUERaRIA G0
i 3y
(1) (a), (b) 30 () 2 (a) (b) 3 (d)
(3 (@ (9 (q) (4)  (b), (c) 3mfW (d)

According to World Bank, in 2018 India was among the top 30 nations in three categories of
ease of doing business, these are .

{a) getting electricity (b) securing credit

{c) registering property (d) protecting minority investors
Answer Options :

(1) (@ (b) and () (2) (@) (b) and (d)

@) (@) (©) and (d) 4)  (b), (c) and (d)

71. e 9yt e ST aeE X — 0.1 TFF BOIHE il ?

(1) 2011-12 (2) 2013-14 {3) 2015-16 (4) 2016-17
In which year the rate of growth of industrial production was negative at —0.1 percent ?
1) 2011-12 (2) 2013-14 @) 2015-16 (4) 2016-17

THoeT SHIATAISH ST/ SPACE FOR ROUGH WORK P1.O
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(b) IR FawuE St Fafa F+@

(c) TR FAYYR &= EE 9 Fafg #<@

(d) ARE WisaauH FeqEl STEE F

it I

(1) % (a) @ (a) 30 (d) (3) W () @ () ()
Leontief proved that

(a) America exports capital intensive goods

(b) America exports labour intensive goods

{c) America exports and imports labour intensive goods

(d) America imports capital intensive goods

Answer Options :
(1) only (a) (2) (a)and (d) (3) only () (4) (b)and (d)

73. T SART 49R00 2011 S 9@ g .
(a) SR ST A 12 4 14 THRIET e,

(b) 2022 THd IARA & 100 TYEE R ISR Fmior w,
(c) YR SCHRATH ST SIYfcHeRal araford.

Whﬂ' 3?!:{' :
(1) 9 (a) T (b) (2) FIS (a) 3 (c)
(3) A (b) M (o) (4 adw v

The main objectives of National Manufacturing Policy 2011 are

{a) To increase manufacturing sector growth to 12-14 percent.

(b) Create 100 million additional jobs in manufacturing sector by 2022.
(c) Enhance global competitiveness of Indian manufacturing.

Answer Options :

(1) only (a) and (b) (2) only (a) and (c)

(3) only (b) and (c) (4) all of the above

HEAT HAEE AT/ SPACE FOR ROUGH WORK
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74, &g MY ToF TR A=A &2 Feger 9l __ oo FTwRefgaR g,
(a) Tog swEm (b) ST
(c) H.uH. et fut (d) fod HAHE
vt 3@
(1) (a) faur @ o ) (b)faum 4 e
(3)  (a) onf (b) faum Fra ama @) (o) oufu (d) fawm g e
The centre shares the tax revenue with state governments based on recommendations of :
(a) Finance Commission (b) RBI
(c) P.M. Care Fund {d) Finance Ministry
Answer Options :
(1) (a) statement is correct (2) (b) statement is correct
(3) (a) and (b) statements are correct {(4) (c) and {(d) statements are correct
75. HFEl w6 .
(a) HE TR (b) T TR
() e & (d) foreei st
watdt
(1) (a), (b) foem Fra smea
) (o) foum I s’
(3) (d) faur 9 s
(4) w4 fqum 9y s
SEZ can be established by :
(a) Central government (b) State government
(c) Private sector (d) Foreign companies
Answer options :
(1) (a) and (b) statements are correct
(2) (c) statement is correct
{3) (d) statement is correct
(4) All statements are correct
76. e faftHa swEenE (wEd 9 9 9ga) Frma 2016 @ A 2020 T GUROT HEA

& oW wvH Ui Taemton g T ansieee e .

pocec iAo
=fegor T ‘ER’

(1)
(3)

(2)
(4)

BUEEIS QLN

The Foreign Exchange Management {Manner of Receipt and Payment) Regulations, 2016

were amended in March 2020 to include
Asian Clearing Union Mechanism.
(1)  France's ‘Euro’

(3) South Korean “Won'’

2
@)

as a currency of settlement under

Bangladeshi ‘Taka’
Japanese ‘Yen'

FHoAT HHHES AT/ SPACE FOR ROUGH WORK
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77. ARELIME BN TPE HAIfae BAmw.
(a) THERA dF (b) A dF
(c) TR dF (d) e AT TR
Tt 39T

(1) (a) 3nfin (d) fawry Ay smea

2) (), (c) 3 (d) faum g T

(3) (@), (b) 3 (d) Foaear At srem

(4) wd faum 49 ama

The main functions of RBI includes, .

(a) Banker to the government (b) Banker to the farmer
(c) Banker to the industrialists (d) Printing currency notes
Answer Options :

(1) (a) and (d) statements are correct

(2) (a), (c) and (d) statements are correct

(3) (a), (b) and (d) statements are correct

(4) All statements are correct

78. w@rtd faur fa=mom =
(a) IS F & Fx N0 T TR O SaER S,
(b) TorR-wE dey Hefud T TEREE saaeafd anfo yenfas et .
(c) <EH S ST S TaRraTEre! UL St Heeerd! 9T el el
Fheda! PR/ faum/A atteT 7R ?
(1) & (a) S (c) SR 3R (2) & (a) 3T (b) S A
(3) % (b) T (¢) TR T (4) SO W
Consider the following statements :
(a) Major ports are the direct responsibility of the Central and State Governments.

(b) Non-major ports are managed and administered by the respective State Governments.
(c) The National Harbour Board was set-up for management and development of minor

ports.
Which of the statement/s given above is/are correct ?
(1) Only (a) and (c) are correct (2) Only (a) and (b) are correct
(3) Only (b) and (c) are correct (4) Al of the above
79. TF 2018-19 T HIVRA QAW THG 92 [AEFE IR ol 2
(1) @iysm 2) fasfta dan
(3) dEIFE (4) SEA
In which sector Foreign Direct Investment was the highest in the year of 2018-19 ?
(1) Construction (2) Financial Services
(3) Transport (4) Manufacturing
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80. e Siredl ool

e s 1 )
(a) TN ot e G = fovm F=
(b) =i faa smEm @) o9 TReE
() Fa faw s (i) eI IAfE G
(d) e faw smEm (v) . T faE
it I

@ ® (© (d
M W @ @ 6
@ ) @ @ @
@) @ O @) @
@ @ @ @ w)
Match the following :
Finance Commission Chairman
(a) Fifteenth Finance Commission (i) Dr. Vijay Kelkar
(b) Fourteenth Finance Commission (ii) Dr. C. Rangarajan
() Thirteenth Finance Commission (iii) Dr. Y.V. Reddy
(d) Twelfth Finance Commission (iv) Shri. N.K. Singh
Answer Options :
(@ (b) () (d)
N @) @ @@ @
(@) (v) (@) @ @
@) @v) @) (@) (@)
(4) @© @ @) @)

81. 1950-51 9 2016-17 T AT TR Tar 8= Sfereisem Geieries! wvR faur e T ?
(1) Rars S 9el |1 851 911 2016-17 HE3 53,7 <56h Bidl.

(2) FHFR AEHeen [faeea USPR SHIS SIadid Oa &ErEn arel 2011 76 26.9 296 B,
(3) Traida a1 &EmEn 9”1 2016-17 94 41.8 296 i

(4) O S AR R Yfaga leean k.

Which of the following statement is not true about the characteristics of Indian service sector
during 1950-51 to 2016-17 ?

(1) The service sector’s contribution to India’s GDP was 53.7 percent in 2016-17.

(2) In terms of employment potential provided to the working population, the contribution
of the service sector was 26.9 percent in 2011.

(3) The service sector’s contribution to export increased to 41.8 percent in 2016-17.
(4) Service sector trade has always been Adverse.
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82. T MftT ¥a FT(GST) A _ 79t saaen weE.
(a) ISR ImenfiE O I s
(b) ST ufid § Iered snefi
(c) T AmfE @ ek s
(d) wfer s 9 U et

i I
(1) (o) foum 97 o ) (a) T (o) faurm 9rg smRa
(3) (b) a0 (d) faum A ama @) (o) faum @y s

The Goods and Services Tax (GST) changes the system from
(a) Production based to consumption based

(b) Consumption based to production based

(c¢) National based to local based

(d) Local based to national based

Answer Options :

(1) (a) statement is correct (2) (a) and (c) statements are correct
(3) (b) and (d) statements are correct (4) (c) statement is correct

83, WG figied s ‘Yh ' 14 5 2014 TS .
(1) 6% (2) 73%h (3) 8T (4) 9TEH
‘REPO rate” of Reserve Bank of India was on 14 June 2014,
(1) 6 percent (2) 7 percent (3) 8 percent (4) 9 percent

84. RGN HreSleh TEUT=A] o w1 & fAfifd st ?
(1) UL Jafaga vl qemss
(2) UTATY VT HEHES
(3) U IO TN HEHED
(4) hads w8
Which of these Indian publicly owned companies generates electricity ?
(1) National Hydroelectric Power Corporation
(2) Nuclear Power Corporation

(3) National Thermal Power Corporation
(4) Al of the above

85. fasm nfde &F FrE d9ed Ul TE F0IF 3 ?

(1) 2002 (2) 2003 (3) 2004 (4) 2005
When was the Special Economic Zones Act passed in parliament ?
(1) 2002 (2) 2003 (3) 2004 (4) 2005
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86. IR SHENfiTh SASTRUUTET WTelleTiah! HI0w /B0 I/ HO e/ e ?
(1) =T I=TH L
(2) AR A
(3) onfYe IS 9 HE= AR %
(4) et ¥
Which of the following are the cause/causes of industrial sickness in India ?

(1) Highest rates of taxes
(2) Lack of technology

(3) Trade cycle of economic boom and depression
(4) All of the above

87. TNEH BTN WA ST HATed.
(a) TSTHIT G T E
(b) T SENT T |l 9 Hefe e &

(c) TR “e

(d) TSR g

W‘H’l‘aﬂ"(:

(1) (a) 30f (b) @) (a), ) A (E) (3) o (d) (4) () 3 (a)

The parameters of the strong trade union are

(a) Non-interference of political parties

(b) One union, one industry and strong financial resources
(c) Working class leadership

(d) Political leadership

Answer Options :

(1) (a) and (b) (2) (@, (b)and (c) (3) only(d) 4) (9 and (a)
88. IVl TN ‘' FMGH S a1 H{E 04w STl 7

(1) @ (2) uiHeg () T (4) T W

In which state “Gyanadoot Internet Service” is started ?

(1) Kerala (2) Tamil Nadu (3) Gujarat (4) Madhya Pradesh
89. FUSUE [THEA WiHom= Il ey el

1) 1971 (2) 1995 (3) 1999 4) 2012

Slum Rehabilitation Authority was established in :

1) 1971 (2) 1995 (3) 1999 4) 2012
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90. MRTE S TEr= 31 74 2015 st st M= <o efqar Sona weifes 2 ?

(1) | (2) WERIE (3) TTH (4) T Y
Which state had the largest installed electricity generation capacity on 31 March 2015 in
India ?
(1) Gujarat (2) Maharashtra (3) Rajasthan (4) Madhya Pradesh
91. USHY FiN srefemea s7fo1 ¥Rer TeieE g 49 feor ate.
(1) = (2) I et (3) W (4) T
National Institute of Agricultural Economics and Policy Research is located at
(1) Chennai (2) New Delhi (3) Hyderabad (4) Mumbai
92, dfad SeRIETSt HEATE WIeH AT wEHE 9999y T HEFTRUe+4 Ak
AT e,
(1) ¥&™ 2) IS
(3) IRl 4) TER

Mid day meal scheme programme was 1t time introduced for disadvantaged children in
municipal corporation.

(1) Madras (2) The great Mumbeai
(3) Kolkata (4) Hyderabad

93, ‘‘SOTEE 3T TReN nfor ot ferh 2018 HHel UH.U SN SASITER, YRAW fad < b
AHREEA TUIT 3T ?

(1) 13.6 2) 148 3) 216 (4) 187

According to FAO estimates in “The State of Food Security and Nutrition in the World,
2018” report, what percentage of population is undernourished in India ?

(1) 136 2) 148 3) 216 (4) 18.7
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94, WEAicieR! HIOET Il AT SFeT-SAReRAA HRU AN ?

(a) g e g

(b) = TR

(c) it &mra aruE SO SR 9 STRrdEH 43

(d) Tt HeeE

it I

(1) 9B (a) W (b) (2) FEB () (@ (d)

(3) FAD (a) S (c) (4) e (b) W (d)

Which of the following are not causes of the low productivity in agriculture sector ?

(a) Inadequate irrigation facility.

(b) Mechanisation of Agriculture.

(c) Old and inefficient machinery used in agriculture sector.

(d) Agricultural Research

Answer Options :

(1) Only (a) and (b) (2) Only (c) and (d)

(3) Only (a) and () (4) Only (b) and (d)

95. TENEIE THYT AeHeaT STGAT 1ol T R shich AFTr ?

(1) == WA (2) T

(3) o Snfty TEerE (4) TIEH

Which state ranks first in total oilseed production in the country ?
(1) Madhya Pradesh (2) Gujarat

(3) Telangana and Rayalseema (4) Rajasthan
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96. SIS ool :
3T T FEHH URY &y
(a) T @ A (i) 2002-03
(b) TEU HEAEE Ut FER HEAFH (i) 2001
(c) ATYwRTE U Frfwn (it) 2000
(d) T E S A (iv) 2004
it I
@ (b)) (g (d)
(1) @) @ @) @
(2 @ @ G @)
3 v O @ ()
@ @) @ ) 6
Match the following :
Food Security Programmes Year of Start
(a) Antyodaya Anna Yojana i) 2002-03
(b) Nutritional Programme for Adolescent Girls (if) 2001
(c) Emergency Feeding Programme () 2000
(d) Village Grain Bank Scheme (iv) 2004

Answer Options :
(@ (b (9 (d)

1) @@ @ G @
2 @) @ @ )
@ v O @ (i)
(4) @) @) (@)
97. 3Mf¥fe TR AR T 2016 T IR (SR STHTE fiodes Iucter Bl
(1) 309 ¥a/fEA (2) 39 ¥A/fA
(3) 487 UA/feq 4) 560 TA/fA
According to Economic survey, the per capita net availability of food grains in India in 2016
was .
(1) 309 gram/day (2) 396 gram/day
(3) 487 gram/day (4) 560 gram/day
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98. VdFHH IAKH THZAST WHR S0EE! ¢ 3 W' € FEH d 9RR FuaE onel. @

Frar Tupi=n wafo fasmaramet .
(1) 3, =i anfon e 2) fe@@a
(3) = sufu it (4) e e e fu
A new scheme “Operation Greens” was announced to promote Farmers Producers
Organization. The scheme is for integrated development of crops.
(1) Tomato, Onion and Potato (2) Green Manure
(3) Tea and Coffee (4) Spices and Plantation crops
99, SIS A1 :
it fawita dwer A 9N
(a)  &nfr Tty Se @ 1958
(b) e (i) 1968
(c) =i fag frm (i) 1975
(@ ¥R @ (iv) 1982
et I

@ (b) (@ (@)
O @ @) W
(2) Gv) @) G @
G @ @) @) @
4 @ & @ @
Match the following :

Agricultural Financial Institutions Year of Establishment
(a) Regional Rural Banks () 1958
() NABARD (i) 1968
(c) Agricultural Finance Corporation (iii) 1975
(d) Agricultural Credit Corporation (iv) 1982

Answer Options :

@ (b) (0 (4
G @ @ @ @
(2) (v) @) @@ @
3 @) () @) @
4) @) @v) @) @
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100. T STHAHS Ereiierism HR e} AaTE bt TRl Sraw 2
(a) HeyA g fawr fae
(b) FTY T e oA fash
(c) IO yEIeH wigw feh
(d) v snf fosfa e faeit
vt I
(1) (@), (o), () Tt e sz 2) (@) (@) (d) Fem =4 e
(3) (b), (o), (d) faen dra s (4) whedet v faum dra amea
Which of the following funds are maintained by NABARD Bank for development activities ?
(a) Research and Development Fund
(b) Agriculture and Rural Enterprises Incubation Fund
(¢)  Rural Promotion Corpus Fund
(d) Credit and Financial Services Fund
Answer Options :
(1) (a), (b), (c) are correct (2) (a), (c), (d) are correct
(3) (b), (c), (d) are correct (4) All the above are correct

101. GIRAAYE! HIORT 16 IRAR Y STTHEH Tiye, T6t feeet=n Fel Tewa qHIfae -t ?
(1)  YEd Yt S i AT fRRTEe! A e o, S T 9 e Qo
(2) ToEgY 9AE SaeE faw s st S fsren wered v w101 90y 1@,
(3) YA fdE eIt I I HYAT TG HI.

(4) Y foreqo, S onfor AR Fm@tasd R, e oo ween <9

Which of the following is not mandate of Indian Council of Agricultural Research (ICAR)
New Delhi ?

(1) Plan, undertake, co-ordinate and promote research and technology development for
sustainable agriculture.

(2) Aid, impart and co-ordinate agricultural education to enable quality human resource
development.

(3) Establish Farmer producer companies for economic empowerment of farmers.

(4) Policy, co-operation and consultancy in agricultural research, education and extension.

HSAT RIAMEES M/ SPACE FOR ROUGH WORK



A 41 L14

102. TR fomo =aeER fouTenESt 1998-99 e 7Y WG 3T FIT AN &
HeAl.
(@) Tig> (b) T (c) Vo (d ¥
atEr I
(1) 93 (a), (b) 30 (d) (2) D (a) A ()
(3) FB (a) A (b) (4) F2 (b), (c) M (d)
A Food Coupon Scheme was introduced in Andhra Pradesh in 1998-99 for distribution of
through PDS.
(a) Rice (b) Wheat () Kerosene (d) Sugar
Answer Options :
(1) Only (@), (b) and (d) (2) Only (a) and (¢)
(3) Only (a) and (b) (4) Only (b), (9) and (d)

103. 'FfY FiFREw vafiem’ (SWAM) § Hiorer daariis d9d ael FE[ 3T 2
(1) 10 = JoaTyeR dem (2) 12t geEe e
(3) 13 9 doEnt Frer (4) 9 9 dwEiie A

In which five year plan, Sub-Mission on Agricultural Mechanization (SWAM) was
introduced ?

(1) 10% five year plan (2) 12th five year plan
(3) 13t five year plan (4) 9™ five year plan

104. Gl HIUN Tew T FiY fagm Ao g o ?

(a) WA AT GURA () fam

(c) FN gemeA (d) H&w o=

i I

(1) e (), (b) S (o) (2) FAZ(a), () I (d)
(3) ED (b), (c) I (d) (4) et §d

Which are the following components are included in Rashtriya Krishi Vikas Yojana ?
(a) Enhancement of Soil Health (b) Insurance

(c) Agricultural Research (d) Micro Irrigation
Answer Options :

(1) Only @), (b)and (@) (2) Only (@), (0) and (d)
(3) Only (b), (c) and (d) (4) All of the above
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105. IeeTish! UK I ST st TUE Heeed! e el ?
(1) H9H=mEt Saekt Fe (2) dUFE TIERE TaAd H
(3) uTHiE FEFAAR e Hef (4) Freroits WG SAAS F

Which of the following is not referred as a ‘consumption loan” (Credit) ?
(1) Loan for pumpset (2) Loan for medical expenses

(3) Loan for religious ceremonies (4) Loan for educational needs

106. T4 2022 THq S[AIHO FOGRITE FHol I T Iq AsH Fd 37 2

(1) 100 GW (2) 50 GW (3) 175 GW (4) 225GW
What is the proposed target of renewable energy production to be achieved by the year
2022 ?
(1) 100 GW (2) 50 GW (3) 175 GW (4) 225 GW

107. wTRAT=a S i srfwaren fag=ar <o 7ed U-233 € 399 BN T HUR 37T
(1) U-238 9 A FHH (2) U-235 9 379 1T '
(3) Th-232 9 3] TR (4) Th-230 9 3] TR
In the third stage of India’s Nuclear Power Generation Programme U-233 fuel will be obtained
from

(1) nuclear fransmutation of U-238 (2) nuclear transmutation of U-235
(3) nuclear transmutation of Th-232 (4) nuclear transmutation of Th-230

108. TTETTEHEId STSUMN SAU[VEIHY, TSN Wieferish! S Jfah/ Jfasias arwe e e ?

(a) TSR (b) Fe () 3o
i I

1) (@ w (2)  (a) T (b) =
(@) ()= @) (a), (b) 3 (c)

In which of the following role/roles, heavy water can be used in pressurized heavy water
nuclear reactor ?

(a) moderator (b) coolant (c) fuel
Answer Options :

(1) () only (2)  (a) and (b) only
(3) (b)only 4) (a) (b)and ()
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109. R a0 FTHAT ¢ HeTEH S BT A S ?
(a) TFHW T (b) o TdS Ham
(c) ST Tomm avE (d) ST I T
it I
(1) () (2)  (a) (@) O 4) ()
Who is considered as the Father of Indian Space Program ?
(a) Rakesh Sharma (b) Dr. APJ. Kalam
(c) Dr. Vikram Sarabhai (d) Dr. Homi Bhabha
Answer Options :
1) @) @ () 3 ® 4 (©
110. Ffm IqErn Yfter FEeE YISt 361 T .
(1) &I 42,000 fe.A. (2) 200 f&A. 3 1000 f&.5. @ A
(3) a9 20,000 .5, (4) SR 36,000 T4
The height of Geostationary orbit of an artificial satellite, from the surface of the earth is
(1) About 42,000 km (2) Between 200 km to 1000 km
(3) About 20,000 km (4) About 36,000 km
111, <gam-2 Aifehen Mrae] Sgre <o garen ded il Fel T ?

(a) STESE YA TSUIET WA TEUTT HEYSHRT SfRo 31fereh Wiat 1R

(b) FEHY Aael ATl foamml v Afead STHuard) veEar ST

(c) o ya wewm ¥ia Hives TR @y HRa. |

(d) id ST GEaT W IRt share g .

i I

(1) T (a) 979 AR

(2) (a) 7 (b) A IRA W () T (d) ST FARA.

(3) (a), (b) T (c) AT RA W (d) 3T SR,

4) (@) (), ()3 (d) & A7 Tea.

Why was the Lunar South pole targeted for exploration in Chandrayaan-2 mission ?

(@) The lunar surface area that remains in shadow is much larger in South than that at the
North pole.

(b) There could be possibility of presence of water in permanently shadowed area.
(c) South pole region has craters that are cold traps.

(d) The cold traps contain a fossil record of early solar system.

Answer Options :

(1) Only (a) is correct.

(2) (a) and (b) are correct while (c) and (d) are not correct.

(3) (a), (b) and (c) are correct while (d) is not correct.

(4) (a), (b), (c) and (d) are correct.
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112, Ao o Facdee eravarash wata e famret e TER Fowh Wk 2
(1) anfvas Fearh Siauen faceanre oo
(2) 3NfaF FHEA THETBETE! M
(3) ¥l we=Ten fer Yy wewwiEmE! men
(4) Nftes Fau anfrasd KT THEUT a0
Which is the most widely accepted way of disposing nuclear waste ?
(1) Disposal of the nuclear waste in Space
(2) Burying the nuclear waste under the Seabeds

(3) Burying the nuclear waste underground in stable geological formations

{4) Keeping the nuclear waste in nuclear power plant

113. FISTIRT Seit AfH s Eeferis! S fauas a o ?
(a) Tt MR T St P STqut ST wEH HHTAES a9 i .
(b) HEA WA SO UHvT foe[d SelaiHaiteRt 50% e s fae s Mt Sesemarg 2.
() Fat FAfHERIET T Fieers SoeH € ATEas! GIere STE HRUNUST Uk w0 TR,
(d) TRRISTIE HIeseler SEIE gaid Hiat 3o vkl oheq g 49 IR,
Tgidt I ;
(1) () 3T (b) T (2)  (b) S0 (c) TR
@) (a), (b) S () TR 4) (), () = (d)
Which of the following statements are true regarding use of coal for energy production ?

(a) Incomplete burning of coal during energy production process produces carbon monoxide
gas.
(b) Presently more than 50% of the total electric energy generation in India is from coal

(c) Coal burning for energy production may contribute to acid rain.

(d) The largest coal based thermal power plant in Maharashira is at Turbhe.
Answer Options :

(1) () and (b) only (2) () and (©) only

(3) (a), (b) and (c) only (4 (), () and (d) only
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114, TG T ST Te=rereh [T YT TIVIRY Vil Weferieh! shiurel Heehial STaeis T8 ?
(a) T T ST gl A
(b) T T A ATl Tl
(¢) T Ueld &9

(d) TEE A

att Su

(1) (a) 0 (b) (2) (a), (b) e0fW (c) Fo
(3)  (b), (c) ¥ (d) e @) (@), (c) enfor (@) F

On which of the following factors does the power available from a wind turbine at a given
site depend ?

(a) Density of air at the site

(b) Speed of wind at the site

(c) Area of the rotar of wind Turbine
(d) Humidity of Wind

Answer Options :

(1) (a) and (b) only (2)  (a), (b) and (c) only
(3) (b), (¢) and (d) only 4)  (a) (c) and (d) only

115. Hfxd €9R S deEd 97 TSt fafies, Saerr AR A .
(a) TaX <fa yomett (b) few e wumedt
(©) TaEd H¥ JUIet ) EE FE
it 36T
1 ®) 2 @ G @ 4 (©
Godavari Green Energy Limited, Jaisalmer uses technology for concentrated
Solar Power.
(a) Power Tower System (b) Dish Engine System
(c) Parabolic Trough System (d) Linear Fresnel
Answer Options :
1) ®) 2) @ @) @ @4 (9

116. THT AUEHER Fafife fEw (U28) aar Jieiet | O ST
(1) UFEE (2) HMHr gt (3) reSul (4) HEA
For a homogenous reactor using natural Uranium (U>), the moderator must be
(1) graphite (2) ordinary water (3) heavy water (4) carbon
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117. IR, #ed=e J=ie o Fera PSLY 31for GSLV 91 SUUE YavsH &9 Fa 91, =9 T4
.
(1) fowd FwE T Fet (VSsC)
(2) 9.3 I§ "age WX (URSC)
(3) WA e TE G (SDSC)
(4) T IFAFT R (SAC)
The name of centre of Shar, Sriharikota from where the launching operations of Satellite
Launch Vehicles PSLV and GSLV are carried out, is
(1)  Vikram Sarabhai Space Centre (VSSC)
(2) U.R. Rao Satellite Centre (URSC)
(3) Satish Dhawan Space Centre (SDSC)
(4) Space Application Centre (SAC)

118. WAt SO/ faum /3 I a/a?
(a) yEA ¢ faeTeifome S ufay snfin favemumere dm 9= w ifer dee s
(b) THE | AN HifgHaeSt Wiueld T e fuffeedt a1k,
gt 39
(1) () A4 3R, (b) 21ET AR
(2) (b) AT TR, (a) A 3T
(3) (a) AFa MR, (b) AT A
(4) (a) AT AR, (b) AT g

Which of the following statement/s is/are correct ?

(a) Bhuvanis a Geo-portal comprizing of Geo-spacial Data Services and Tools for Analysis.
(b) MOSDAC is a data repository for all meteorological missions of ISRO.

Answer Options :

(1) (a) is correct, (b) is incorrect

(2) (b) is correct, (a) is incorrect

(3) (a) is correct, (b) is correct

(4) (a) is incorrect, (b) is incorrect

119. 2019 THid, HgaH-2 a1 YRAr=AT SN SSHiENd, ST STeiedl WEuE A g
AR,
(1) GSLV MK III-M1 (2) GSLV MK I
(3) RH-560-MK-II (4) PSLV-C50/CMS-01
The name of launch vehicle which was used in Chandrayaan-2, India’s Second Lunar Mission
in 2019, is .
(1) GSLV MK HI-M1 (2) GSLVMKII
(3) RH-560-MK-II (4) PSLV-C50/CMS-01
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120, 35 R N.UE.To .- uE. 1 1 398 weq f&. 28 gard 2021 @ TSRO gaf[ Heren
STAEIAI-1 & SYUE HI0 SAEN T Horen T 1o Hanfera e s 2
n W (2 erffem (3) e (4) it
Amazonia - 1, successfully launched by ISRO using PSLV-CS 1 on February 28, 2021, is a
Satellite designed and operated by which country ? -
(1) Peru (2) Argentina (3) Brazil (4) Coloumbia
121. UFYST T STEFINIEH 1 (SHA-1) 1 message digest _ =igg =1 3wl
(1) 160 =IeH (2) 512 =IeH (3) 628 sf™ (4) 820 <\
Secure Hash Algorithm 1 (SHA-1) has a message digestof ___ bits.
(1) 160 bits (2) 512 bits (3) 628 bits (4) 820 bits
122. =tk = A, Sffeaa AFRNER, T o fRdl Sedad TR(AEET 9EE) oot 9=
Yhdd ?
(1) 07 <3 (2) 14 <3ciE (3) 21 <N (4) 28 <ICAH
In block chain, as per the bitcoin standards, what are the maximum number of bitcoin’s that
can be mined or created in the process ?
(1) 07 million (2) 14 million (3) 21 million (4) 28 million
123. TTRICATA TeAtalst (IT) HIET 2000 378, T (hacking) Fwamerd @ree faen fruife weft
38 ?
(1) TEEM 29¥5q H9a €€ 3 T TI9Ia S7oan At
(2) TETEM 3 TUGET AT S 2 AW THAHd ISl ARl
(3) TEEH 3 IUGEA A T 3 A THAiTEa SAEn a
(4) TETEE 2 IETEd 31UET €€ 2 WA T9ATTa STerE A
According to IT Act 2000, whoever commits hacking is liable to following punishment :
(1) imprisonment upto two years or fine which may extend upto three lakh rupees or
both.
(2) imprisonment upto three years or fine which may extend upto two lakh rupees or
both.
(3) imprisonment upto three years or fine which may extend upto three lakh rupees or
both.
(4) imprisonment upto two years or fine which may extend upto two lakh rupees or both.
124, SLuaH®, g b (UDP) U FR I AT Feewel e grRefaraeet .
(1) 66 (2) 67 (3) 68 4) 69
DHCP uses UDP Port Number for sending the data to server.
(1) 66 (2) 67 (3) 68 4) 69
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125.

48 A

ASECRER BE I EEC AR E

(a) iR fefses wafamm

(b) RIS fer JFrt ARTO THR U

(¢) To=n=aty wrra dete g

(d) W ETe AU wree e fefaed g gfaen
i I

(1) (a) 300 (b) (2 (b) 3 (c) (3) (c) Ao (d) @ (a), (b) 3T (d)
Vision areas of “Digital India” programme are :

{a) Digital Empowerment of Citizens

(b) Governance and Services on Demand

(c) Provide free Laptop to Students

(d) Digital Infrastructure as a core utility to every citizen

Answer Options :

(1) (a) and (b) (2)  (b)and (o) (3)  (d)and (d) 4) (a), (b)and (d)

126. YAF T (class) TIEI (training) 30T M=ot W (test set) Iat FEA AT Wiaifue Fa sEa
ArET @ HoAES], T2 (AE) fesvamEEt ared v IREe! (terminology)
TR,
(1) ¥ 9T (Cross validation) (2) TS (Stratification)
(3) USAUl (Verification) (4) 92U (Bootstrapping)
The terminology used for selecting data so as to assure that each class is properly represented
in both the training and test set is
(1) Cross validation (2) Stratification
(3) Verification {4) Bootstrapping
127. €L.UH.UH. 91 949 SR =0 Gevid Fel HiH F1F 38 ?

(1) HE VRA wied (2) FE MW VRA

(3) HEFST WEA wieE (4) FEHIIM YW W
What is full form of CSS with reference to Web Hosting ?

(1) Current Style Sheets (2) Current Sheets Style
(3) Cascading Style Sheets (4) Cascading Sheets Style

HoAT HUS! AMT/SPACE FOR ROUGH WORK
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128. anqﬁmnm‘wm 1 TSI Teheh/Uahah HIA/HI0TC STTe/3TTed ?

(a) TE.HE (GHz) (b) UwRATT e Yererq

(c) w8 W I+ (d) THTIH.TE.

Tt I '

1) (a) T (2) (b) ®F

(3) (o) =nfu (d) (4) TR DIV TR

What is/are the unit/units of measuring speed of modern Supercomputer ?

(a) GHz (b) Teraflops or Petaflops

(c) Bits per second (dy MIPS

Answer Options :

(1) (a) only (2) (b) only

{3) (c) and (d) (4) None of the above
129. F SR S JHAHE (two parties) T (value) TAUT (transfer) FIUITHIS! STYEH1 SO

ElEEan| TEUTM.
(1) <9 (DApp) (2) =¥ (Hash) (3) e (Node) (4) FA (Token)

A bearer instrument used to transfer value between two parties over a block chain network
is called as

(1) DApp (2) Hash (3) Node (4) Token

130.

I[PV4 3701 [PV6 WUTelt THR @Teiierisht Hiow faum oot sme ?

(a) IPV6 31 7132 bit 3T SHTA (Hexadecimal) Ted TR (represent) Fell Sl
(b) IPV6 37 T 128 bit HY THM (Decimal) I§aH FRE FHe L,

(c) IPV4 3TH 7132 bit 3G A (Decimal) Tga- FEfE e s,

(d) IPV6 37gd 128 bit 3T FURIHa UgdH FRE Fen v

it I

(1) (a) M () TR (2) (b) @ (@M @ (@
With reference to IPV4 and IPV6 system which statement is true ?

{a) IPVé is 32 bits and represented in hexadecimal.

(by . IPV6 is 128 bits and represented in decimal.

(¢} IPV4 address is 32 bits and represented in decimal.

(d) AnIPV6 address is 128 bits represented in hexadecimal.

Answer Options :

(1) (@ and(d)only (2) (b)only (3) () and (d) (4} (d)only
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131. HErrs sTEieerTes Hey, IR ieal STy St HadT JarTanad Hgan FHIve

A IIIET FUAE A
(1) HafE w=ren gam dae 2) forer-vfalys daEm
(3) Sfea gurfa =i (4) HeA™ It HIYA

Mahabeej Biotechnology Center, Nagpur’s state-of-art tissue culture laboratory produces
on large scale.

(1} Mandarin oranges plantlets (2}  Pest-resistant soyabean
(3) Genetically modified tomatoes  (4) Tissue culture banana

132. e ST aEn San’ S wuE.
(1) TR SO HfEed aI9ed SEAHEe! THee Sia Ao Jaed STvar et
(2) ¥ gfaen, A it Fedt TEeE ST ST Siai wated sl
(3) tfafea IurEit Sfwa e (Afaaitaent) aga sheieal S BREvErd] Sy
(4) A (sfifaent) SEErn HIEE ST el Sai Hieheodl SrdEvd STTuEE
STEAe 379 SR w0l

is known as Biological containment.

(1) A strategy to physically confine organisms under study using safety equipments
(2) A facility design and operational practice to confine organisms under study
(3) A procedure of handling genetically engineered organisms with extra measure
(4) Employing strategies that render an organism used for genetic engineering incapable
of survival in open
133. SIS fyeaa1 faraareE soedl Saqy fasiaa Fee afeeh o= 2 BT E I C|

BIl, &1 TRiie) IWEhica e YSUiAEd Higal THIVIG ST9¥ Sie.
(1) felemdm st (2) o= qu/diE s () WERYFH @) <&t

The first vaccine developed from minced chick tissue against found enormous

application in tropical countries.

(1) THepatitis B (2) Yellow fever (3} Cholera (4) Small pox
134. oo fage At <wrart ffaa stamEt FE 9@ 1 S AT hel

Tl

(1) FHiferde - 2rEdm (2) WERTEH - T

(3) TR AT - T (AFE oghEee wfasH)  (4)  HIE dided

can be sometimes used to determine percentage paternity of a child.
(1) Complement - typing (2} Cytokine - typing
(3) HLA - typing (Human Leukocyte Antigen) (4} THormonal levels
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135. TrOITe | 9o afelt A frem gume ? fmin 5w oot fmfor yeAda He
YRR e e, -
1) e (2) WA WS IX
(3) T4 SR WU (4) zfAfE
Transgenic mammal ‘Polly’ produced in her milk representing major advance
in Pharming.
(1) Insulin (2) Human factor IX
(3) Human growth hormone (4) Epinephrine

136, AT IR AL TG FHAMAT A1 Getel TEa1 AT ST &1 hAan! T 341
(a) FHeo (b) HifeEn (c) T IHSN (d) fwvad
Qi 39T
1) @@ @ ® @ ®) @@ d G (d @k b @ I© @) b
Arrange the following processes in order, for conversion of barley to beer :

(a) Mashing (b) Malting (c) Wort boiling (d) Fermentation
Answer Options :

1) @ @© @ ® @ @) @@ @ @ (@@ @b @ /@@ /d),db)

137. FHUTD 3% FhR AT HoaEEt y0ae S/@q 7 HORT g9 S’ € T 359 A

Tl 7 PR AT woFER snaia o1
(1) oTeewe wfem | @) e e
(3) gE fe G (4) el WIS Ot

Liquid biopsy a newly emerged non-invasive tool to detect several types of cancer is based on
detecting circulating

(1) Tumor proteins (2) Tumor cells
(3) Tumor DNA (4) Bone marrow cells
138. HENI=AT TR faegmeta 1 fRARaET et e, SemHEd defitel (AggET) wreeir
W9 YHeaTes WSt Wadt I Seiel 1.
(1) wed (2) <rFEAD (3) AT (4) faget
The coastal village in Ratnagiri district of Maharashtra has gained prominence
in the country for their sea turtle conservation project.
(1) Bhatye (2) Dhokamle (3) Anjarle (4) Chikhali
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139, wRa@ ‘A favm’ =t sTHcssau FOM Witk S & 3.
(1) SRS faam

(2) oI st gt faum

(3) At 9 sfEnfi T g

(4) el smgfaaE e aRug

is the nodal agency for implementing the ‘Nano mission’ in India.

3
4

=Y

Department of Biotechnology

Council of Scientific and Industrial Research

— — — —

)

2) Department of Science and Technology
)
)

Indian Council of Medical Research

140. SHfFa SwdivaR gt fawe snfn Trofayees yrE g ' T Rt Femmee o’ sqfe
siraeiveR wetTet (STET.) et Sre sl Fal A9 H, Th IS el a%g s
¥ we& foaene sitws=msian dYeafEae s

1) ufEA (2) fad ufem (3) TRl Ul (4) IfFIAEF TR

As per National Guidelines for Gene Therapy product development and clinical trials, a
Gene Therapy Product (GTP) can be defined as any entity which includes a
being delivered for various means for therapeutic purposes.

(1) Protein (2) Lipoprotein (3) Glycoprotein  (4) Nucleic acid
141. woEEHe & Helufifad T o aeddt € U 4T STTHISIhIHI I .

(1) e ™ ) f=maee  (3) W (4) HAUHED

is a common floating aquatic plant that acts as a metal bioscavenger.

(1) Cat tails (2) Pistia (3) Fern (4) Canna
142. G ST SEaa9H 9 3.4 1 I SEEAA U GAWHR g wfud

el

(1) 2002 (2) 1989 (3) 1979 (4) 1999

The department of Biotechnology (GOI) established the Biotechnology Patent Facilitation
Center (BPEC) in the year __ .

(1) 2002 (2) 1989 (3) 1979 4) 1999
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143, JERN = AR Tl AR,
(1) g5 A[ATha I Yiaereh s 9o S 8
2) R faa e aftom
(3) Irmfaeere wone=n Sefie TiRom
(4) wiasfRa s faurE feeam o
An allergy can be defined as
(1) dampening of the immune response with small molecules
(2) an enzymatic response of the body

(3) excessive response of the immune system
(4) sharing of antigenic site

144, I Sirea oo :

Sifaew @A UHR fires
(a) TSR (@) foma e foh
b) STefeream () >4
(c) 3ITATEER (i) oo fow
(d) 3fgen (iv) aEe S WE e
=i 3w

@ (b) () (d
1) @) @ @) O
(2 @) @ @O @)
@) @O @) (@) (@
(4) (@) @ @ )

Match the following with their correct option.

Types of Biofertilizers Crops
{a) Rhizobium (i) Non-legume crops
(by Azospirullum (i) Sugarcane
{c) Acetobacter (iii} Legume crops
(d} Azolla (ivi Low land paddy

Answer Options :

(@) (b) (0 (d)
1y (@) @ @) @
2y () @@ @ @)
@Gy ) (@) vy ()
(4) f(u) @ @#H) )

el HIATETS! ST /SPACE FOR ROUGH WORK P.T.O
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145. g, TS el B U SAfOATEie! aTRe S, e 2019 9e WY SeeiE S wiha
TN AT
(1) wEEfax ) WrEH
3) & 4) W=
Entire genome of wheat, the source of semolina for pasta, was sequenced in the
year 2019.
(1) Hard Red Winter (2) Khorasan
(3) Durum (4) Spelt

146. 26 Tedat 2004 H e qEard &g Fl B0 fF e et wemra oA fmfor goamm
FHOHYT e ?
(1) eHfeE (2) it (3) gHm (4) fomg

Where was the epicenter of the earthquake that occured on 26th December 2004, which
caused Tsunami in Indian Ocean ?

(1) Indonesia (2) Sri Lanka (3) Sumatra (4) Singapur

147. @rete faum e
(a) ST IS AT [ UK Wehdla STTg,
(b) HENTETY HEA 49 11 fedar 1967 TSt oy AT ST B,
(c) HaE TuiiEarel dF yehq 1o #Ted. 210, TSl ST HTHAT Wrel

gt Iy
(1) Fa fau (b) R TR Q) FE faur (a) SR e
(3) TE UM () SRR 3R @) faum (a), (b) =0 (c) =R e

Observe the following statements :

(a) Deforestation and flood means hybrid disaster.

(b) There was Koyna earthquake disaster on 11" December 1967 in Maharashtra.

() There are three earthquake lines around Mumbai. Thane, Panvel and Dharamtar creek.
Answer Options :

(1) Only statement (b) is correct (2) Only statement (a) is correct

(3) Only statement {(c) is correct (4) Statement (a), (b) and (c) are correct
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148. 12 1€ 1993 Us 4ag 39 Heled it TR Afchdiel ThiZeh NRATHIE IO AFTA SToTeR e ?
(1) Teeht <gt sfer werEn fHam (2) feit Sigh snfon Y@ foRam
(3) W g anfer Ir@rEt R (@) TIRE Sg) anfor HeER R
A series of bomb explosion in Mumbai that happened on March 12, 1993, from where does
the explosives were bought in India ?
(1) Dighi Jetty and Malabar Coast (2) Dighi Jetty and Shekhadi Coast
{3) Marve Jetty and Shekhadi Coast (4) Gorai Jetty and Malabar Coast

149. NDRF ¥ SFE Se UM 22 SHart 2019 st HI0m=l T/ He! ?

(1) 3159 FHR Wil (2) THTA Ta

(3) wFama fdg wga (4) TETA. THH

Who was appointed as director general of NDRF on 22 January 2019 ?
(1) Ajay Kumar Bhalla {2) MM. Naravane

(3) Igbal Sing Chahal {4) S.N. Pradhan

150. (a) %d 9% URET 31 SRS TR R,
(b) 30 AT 2014 IS YO TR AIS a1 MAER YHiara I ST 8.
(©) HrEE-19 T Jfaw et .

FUAUHT DR/ faum/A SHeT 3R ?
(1) faum (o (2) faum (a) anfh (o)
(3) faum (a), (b) snftn (c) (4) faum (b) s1f (o)

(a) Disaster means Bad Star in French.

(b) Landslide disaster take place on 30t August 2014 at Malin village of Pune district.
(c) Covid-19 is a biological disaster.

Which of the above statement/s is/are correct ?

(1) Statement (c) (2) Statement (a) and (c)
(3) Statement (a), (b) and (c) (4) Statement (b) and (c)
-00o-
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T — (Y= 1 967 [@.... )

8) wyfisae fafea Foon fafire Sri=e F= M (76 9%) WA, FEYRaseafaliad STufehea o1 3w
FIEEL Fod HH Hed¥ 7 HA O RIH S TR, 3 AMS TEG T FHER SHETRER. M
I oo altarined o Ryl Wiaey SHeeEeTd stfufEe-g2 Awie TgeTar FRaE HE
U 9 I FHN FUS U T BRGS0/ R T U g9 TR sere e T S

(9) T YFUCRAE! AN fafeq Fodt 9& HIeaHT SHSIRE 8 TeTIRa! T shis THETRe=es 93
HOAH A ST, WA UHEIT AT AArgE SHGARH AT Sl WHT- 1 Guasidhes 1
oo o T sTavaE o

bl
T . 201, =t =6 T 08 0 Yo T el ?
(1) = T qeEr (2) ¥verEg faamIR
(3) TSN TR T (4) TIIEFS e
W TER Arg W (3) TS TEEEE 19 oW M. e o1 g S Y(3)" e, IR
TATHATS T . 201 FS I-swaiF (3)" € ade Oivel SR wE gt v
HTE,

% 201. (D @O @ @
I YA T TR Yol T G GRS 8 e i Qe et
W TR Gufia ade ol SHifRd FE TEEEl.  ETehiNaT thad AT e
WU aTaE, A a1 yTde A auE
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